° el ol el
2023'H 128 2tF7| A2 s=Xg| s
O 758k NE|AE =2 S
TE Y= T
=4 5yg= HE 71| T tEdZda | H™E21IE e X7t dat
1 FA0|23E (pH) - - 8.8 - - 6.9
2 | M=t At SEF (BOD) - mg/X 13,509.8 30 O35} mg/% 32
3 % J7|EtA (TOCQ) - mg/X 15,207.6 55 0|3} mg/% 18.7
4 E2EH (S - mg/! 11,554.8 30 0|3} mg/2 35
5 = AL (T-N) - mg/2 4,511.642 60 O[3} mg/2 18.476
6 % 21 (T-P) - mg/X 426.940 8 0|3t mg/¢ 0.103
7 ST - 7h/L 135,452 3000 O|st|  7H/L 22
O &= M2AE =X sz
T2 Y U
=H sdg= HE 71E| T s | M™EolE] e X2tEd da
1 F20|28 % (pH) - - 8.2 - - 6.75
2 | WE3etH LA T2 (BOD) - mg/X 4,792.0 30 O35} mg/% 1.9
3 & {7|EtA (TOCQ) - mg/X 4,551.0 30 O35} mg/% 9.45
4 EREE (S9) - mg/X 4.650.0 30 O35} mg/X 2.1
5 = A (T-N) - mg/! 1,646.175 60 O[3} mg/2 10.035
6 % ol (T-P) - mg/2 178.033 8 0|5t mg/2 0.113
7 SUHE = - =/m@ 65,750 3000 O|8t  ==/me 40
O SHEST N2AME =M o
T2 Y gET
= ] HE 718 T oi=sdda |["8 718 el CHa =7 2ot
1 20|25 (pH) - 6.9 5.8~8.0 - 7.0
2 | d=siety MaQ53 (BOD) - mg/t 19.6 30 O3t | mg/t 1.9
3 stetH M8 7 2H(COoD) - mg/t 176.8 200 0|8} | mg/t 36.9
4 2REH (59 - mg/4 58.0 30 0|5t mg/t 3.0
5 = EHA (T-N) - mg/{ 210.000 100 O[3} | mg/t 74.400
6 Z 2 (T-P) - mg/t 0.988 4 0|5} mg/2 0.072
7 e P e - 2=/m@ 0 100 O|8}t | %=/m@ 0
O A7 ES MElAd X2 Hg
T2 Y gEr
= ] HE 718 T o#sdZa 9™ 718 o9l CHl =78 A0}
1 F20|2F% (pH) - . 7.6 5.8~8.0 - 7.7
2 | MEEH LA e (BOD) - mg/% 295.0 30 O3} mg/X 1.6
3 oSt 4t 4 @ FLEHCOD) - mg/2 7.8 200 O[St | mg/t 219
4 E2REH (SS) - mg/2 430 30 0|5} mg/? 3.8
5 T AL (T-N) - =/me 168.800 100 O[3} | ==/me 63.300
6 % 21 (T-P) - mg/2 0.763 4 0|5} mg/! 0.080
7 S - mg/% 38 100 O[S} | mg/t 0




